City of Portland

- (s) Revievyed for ]
1 | | - g Code Compliance
| 1 Date: 2/12/2025
| Permit #: 24-030289-REV-01-R

450" 3-9" 17-3"

<~ FACE OF STUD @ WALL ABOVE

FACE OF 6” L/Q” 1 " 1oAn "o 1o i : 5 Tatel g e i 4 St T, Al a2y LT e
CONCRETE DY 11-10 16'-3 12-5 4-4 : : : — s 5N
RETAINING WALL———3 » - :

20"

23-0"

I\
P
K
= | %
oiE
"
|
40"
|
V4
1

T m m m m | m 1 T T
h 7 N 7
é i 4X8 BEAM )
,
/ 117 LA
] i |
/ ) ] P
| H | :
J i |
] 1 ] = p
‘ i 7 (@)
/ i | hy
/ —— | i % <~
/ — i1 ] . p—
: g 4X8 BEAM i
/ C H | i :
7 i 7 ———— " = P /
il | = g —H 5 ,\C") 13410
4 597 - ’4
,
i | O g A. BEATE IOANIDE-CULI -~
/ | o | '
. < | H 1 < . - % 4X8 BEAM . ' o=
b ; (%] g ggg 5 :II ‘% g é T N 2222z sz a7 7z a2z zzazZzzz sz etz zzzzzzz 7z 7z zz% iz iz sz zza = | %
T . =2 / M > o % T L) ° [
: < = | i < K .
— o s i — - O ] 1D
N - < | = < e 4X4 POST ABOVE @ MAIN FLOOR |2 2 <J% PORTLAND, OREGON
; . ' ™ ! ‘)) Q
. — g | . S _ f SUPPORTING CEILING JOISTS BEAM | s { .
/
‘ Su | > = > M 1S 4 Q
g 5 4 % 4
: | s o ¥z |~
: 3.8" >"< P ; z | 4X8 BEAM >
/ 7 - P
177 - - "
| 1 4xa pOST il < S | ‘ -
1 < O > W » o
] BELOW ] o M = | —
| Il — = —Z |~ :
Z H — -~ ] =
3 977 / g
| =2 20 |©
STAIR 5 | ¥
‘ 7 177 L 7 4
7 117 — ] .
OPENING | = é ’
/
. il | o | 4X8 BEAM .
] ] . |
] i 7 u
| d
g 1 = ;
; H | Q@ ]
] W w w w Z <
4
N —— m m m M m D (
B

m m o
- (2) 13/4" X 14" LVL - FLU

m
——(2) 1 3/4" X 14" LVL - FLUSH 2 4X8 BEAM N AANAAAAANA_A_AL ﬂ ARCHITECTURE STUDIO LLC

‘ . % o 6X6 POST BELOW [— . w

. HI | 5 CRAWLSPACE ]

= I 7/8 TJ’ ]]OS@ "611 T )
5 ] o %elsoc, | A S .
- — B —
™~ \\\\z:\ ! P
T —H 4X8 BEAM
V222 22227 77 2 7 i e 7 i 727z 7z 7 77772 A |« 4
s (1] (1] (1] (1] (1] (1] (1] (1] (1] (1] (1] (1] (1] (1] (1] (1] 1] (1] (1]

? . ¢

]
Bl
|
40"
V4
1

40"

FLOOR SHEATHING: B 4X8 BEAM . o
3/4" 718G OSB, GLUED w/ PR A | -C') O\
. 8
; N
0.131"@ X 2 1/2" NAILS @ 6" : M —
/ e : O
O.C. EDGES & 10" O.C. FIELD . Q 4 LLl N
= > Q4 g
] o ol M I\
< — Q P
. > W . <
A O\
28-10" 44" . 4X8 BEAM g
7/ / . _
VA VA A - . Q
260 , 11-10 33-2 A ) —
7 W # ’ — ﬂ-
L 710 v =
4 A
z 4 ; 4X8 BEAM ]
>
B :
~

400"

/7 FIRST FLOOR FRAMING PLAN
. . n_1t " N ‘
\22/ SCALE: 1/4'=1'-0

KAPPA RESIDENCE

56"
15-¢"

FIRST FLOOR
FRAMING PLAN

24-030289-REV-01-RS

PERMIT SET

DATE: 04.04.24

/A 1.16.25

0'-"
10-6"

@\ _ K X X __ @
, 210" )
? o

SUBMITTED 1/17/25


AutoCAD SHX Text
PORTLAND, OREGON

AutoCAD SHX Text
N

AutoCAD SHX Text
O

AutoCAD SHX Text
G

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
O

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
I

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
S

AutoCAD SHX Text
I

AutoCAD SHX Text
G

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
A. BEATE IOANIDE-CULI

AutoCAD SHX Text
13410

beate
Text Box
SUBMITTED 1/17/25


City of Portland

230"

Q" 50"

) (2) - (4) @ (6) Reviewed for ]
92'-0" .
[
260" ' 40'-8" 4.4 L 3 17-3" Co d e Com p | lance
8 " 3" 4-101/2" 11-3" ¢ 9'-0" ¢ 9-0" ¢ 4-0" Y 7'-5" L W 3-1m & 14-10" € 3" Date: 2/12/2025
4-101/2 16-3 2 y L ) ) s 7 :
1o 1o 7 ’ ’ 7 1 1 Permit #. 24-030289-REV-01-R!
8-11/2 4 8-11/2 | i | | 1-6WX6-0H 1-6WX6-0H
| | (2)2X6 BELOW FIXED FIXED
6WX3- 1-6WX3-6H
4-6WX2-OH 4-6WX2-OH 4-6WX2-OH ngEJ;viSS ] A‘S\m(&éH 7-OWX3-6H AN | | sEAm AsOVE | (2) 2X6 HDR (2) 2X6 HDR
SLIDER SLIDER SLIDER AWNING/FIXED 3-OWX3-6H == F=——
OBSCURE GLASS  OBSCURE GLASS  OBSCURE GLASS NOTED (2)2X6 HDR __ 4 OR SLIDER/FIXED (2)2X6 HDR —  piyep ] ‘ S
, 6X12 HEADER , | (2) 2X8 HDR (2) 2X6 HDR ~——— \/\ O @
Z ! Z ' 1 | o I\ \
i i F=====H===== =) = m 2\ " LAUNDRY
& L N i | / CHUTE i
= INFILL WALL i CLOSET ——— = W 5 |2 Access %
~ BELOW HEADER : __________________ Il €DooR < el
® , o P iy UTILITY Xa S0
. | S| 30x68 =T 2-oxe8 | SNk | mag N % Z) o
l | % 2 o § E LAUNDRY | LAUNDRY Q 23
| | iy MUDROOM 5 0 - CHUTE 0 % |
| ) = Ny, 8-1"CEILING| | ABOVE ) ) |
| | ~N S ° 12'X12" MIN MASTER - o
I \ DN i 3 £ BEDROOM % D Ap
|‘ | 11 172" N 342" R & Ol - ! B 8-1"CEILING Qg\ (&
oL T
w | | ‘ o Lo = L 7 - CTAREEE 13410
Q| [ STORAGE
8 | N o PANTRY | N >7RA%E | TR S BEATE ANDE-CUL tﬂ
28 ; Il | T (RT B-1"CELNG| | N 4X4 POST TO LOFT
o H — — RN o | 44y ., ) 0000~ "N
229 al ‘ N 241", 10-4" | )%,T 4-6" | fFLOOR ABOVE _\ 20-10" /%é& Qﬂ
Z =< 8 x |‘ \ [ 7 Eemm
S . B30 < | [A] oz KITCHEN s —————— 1N NS SN PORTLAND OREGON %
n 6 050 = | =S| 81" CEILNG -6Xb- T T S
~ » ¥ \ o [ A | e UG ‘,y’ Q
soc - I\ | w Lo [NSSSTTNTETIIISNSSSSSR A —— = m e ——F—— L [ it \ [ - I L e |13 - Q‘r ®
&b Z|l A | 0 SIS N closer o @ N _ . B B IS T OF O
el =1 AN ‘ < o BENCH N & 3 | Ity \ N ) > B
i | 5 D S IS S | B e L | :
l‘ ‘ ” . L & N 51 2 ALA 3-01/2 A
| ‘ o o DINING 2.7 910" S T N I MASTER =
l | ® ENTRY | & [VAULTED CEILNG| = ( WALK-IN % o | 2:6X6-8 BATH € o
I‘ | 1/2" TYPE X' GYP, o= (7] CLOSET & . 0 290>
| | BD. AT GARAGE - 3.0 | ( = T : - exEE
1 | WALL - i ] ( 8-41/2] ©| | 8-101/2 SN
1 | ” N > 0 I ORagn
H | \INFILL WALL N . e ( _ ' L] 1 h)& 8
_ - (\ BELOW HEADER o ] ] = uP N © « & :
: A SO | == P : ek S
- g 8-11/2 , 8-11/2 / 5 (2) 2X6 HDR © = N wilf 50 v ARCHITECTURE STUDIO LLC
o & <> / N <
N T T S S S ———— SITTING AREA i i 31 \ J 2X6 STUD WALL @ =z
6X12 HEADER | [VAULTED CEILING] o 20 & 4X4 POST TO LOFT BATHROOM 39 2
I =l _ N
A | 2 [c]— R &) FLOOR ABOVE SIS N
I il o w
| TYP. UNLESS . PORCH ——WOOD STOVE 18"X18" SN i
| OTHERWISE Q@ N A ALAAAAAA_A - - I I I
| NOTED © g WINDOW SEAT/STORAGE g
| % o CABINET u S
i/""x“ POSTMIN, TYP GLULAM 3 1/2" X 10 1/2" HEADER | , < ] @ < >
w N - = ~ = - T = = [ O >
———’3' ———————————————— é‘ ——————————————— = e v R 2) 2X6 HDR | / ‘ ® 2 TYP. UNLESS
MIN 4X8 ‘ MIN 4X8 MIN 4X8 - <z> (2) | (2)2x6 BELOW -/ |, @ ) i
BEAM ABOVE | BEAM ABOVE BEAM ABOVE  4x12 POST 2-10WX5-0H | BEAM ABOVE | @ 3o g & z HERWI
| 154" SLIDING DOORS - SINGLE-HUNG | N | # = . . O
| VERIFY ROUGH OPENING 7'-10" L 410172 ) ' T o LIJ ni —
| 7 7 hl
| (N d Tx = FAMILY S
| 91/2" 10 N
‘ 5z o ROOM < O~
w \ - 22e Il ooy o
o z wi X . ——
i 13-0" L 13-0" ; | i SO o HOLDOWN o (/) I:I_: %
1 - <
ﬂ w 1 SELT |~ g— = =
. . 10" ] (2)2X4 BELOW — I I I R
,L 260 , 1110 AL 28-10 S ) BEAM ABOVE  _ L0 N
1 Ly | o o o =T
L " o © : 239 ¥ = Z
XZE N
/1) @ WOODSTQVE g% T L
| =T 0% o -
/7 FIRST FLOOR PLAN NS/ N \ 3 S
\22/J sCALE: 1/4'=10" - J S , S R —
LEGEND: AN ‘ @J - o
_ | s | N_
Y NEW WALL ASSEMBLY: E NEW EXHAUST FAN ABOVE - SEE S | | |
= EXTERIOR WALLS: 2X6 @ 16" O.C. ; SIDING OVER WEATHER ORSC M1507.3 AND M1507.4 FOR o | | |
B RESISTIVE BARRIER OVER WALL SHEATHING PER PLAN ON EXTERIOR FAN AND DUCT SIZING | | |
FACE & 1/2" GYP. BD. AT INTERIOR FACE I ‘ 1
|
. , \ SMOKE DETECTOR - * INDICATES I |
INTERIOR WALLS: 2X4 @ 16" O.C. WITH 1/2" GYP. BD. EACH SIDE COMBO CO2/SMOKE DETECTOR | | | > ‘
PER R315.3.3 & R315.4.3 I | 1
WALL SHEATHING: |
- | -
SEE SHEARWALL SCHEDULE .—<:> HOLDOWN - SEE HOLDOWN SCHEDULE % . : : . %
o — ! | - T}
— _ > I\ ‘I —_ x —
TS | | N
SHEAR WALL SCHEDULE 8d COMMON NAILS TYPICAL ( DIA.=0.131", L=2 1/2"), TYPICAL UNLESS NOTED OTHERWISE Ze=gz | | le8=5
—Qw | | 12825 FIRST FLOOR
X220 || | | X229
MARK | SHEATHING SHEATHING NAILING | SILL PLATE NAILING FOUNDATION ANCHORS REMARKS Ee : ‘ }I Tk PLAN
L § 3 L | | e = L
NOM. 1/2" APA RATED WOOD STRUCTURAL PANELS 6" ofc EDGES 16d SINKERS @ 12" ofc 2x PL. W/ 5/8" DIA. ANCHOR BOLTS | 0.223 x 3 x 3 PLATE WASHERS, —H0% || OUTDO(?R 'TERRACE neEreE
@ (24/16); BLOCK ALL EDGES 12" o/c FIELD @ 48" olc TYPICAL, U.N.O. ] 5 I 9'-1" CEILNG 1|E =
0% | | [a%
O ‘ O
NOM. 1/2" APA RATED WOOD STRUCTURAL PANELS 4" olc EDGES 16d SINKERS @ 12" ofc 2x PL. W/ 5/8" DIA. ANCHOR BOLTS |  0.223 x 3 x 3 PLATE WASHERS, = : | ‘ _ i : =
(24/16); BLOCK ALL EDGES 12" o/c FIELD @32"olc TYPICAL, UN.O. | ﬁl o NHREPL ACE L &
( R _ i EF \ @
N | |
NOM. 1/2" APA RATED WOOD STRUCTURAL PANELS 3" ofc EDGES 16d SINKERS @ 12" ofc 2x PL. W/ 5/8" DIA. ANCHOR BOLTS |  0.223 x 3 x 3 PLATE WASHERS, ] i | 5 | | N
(24/16); BLOCK ALL EDGES 12" ofc FIELD @ 24" olc TYPICAL, UN-.C. = | ‘\ h | | N PERMIT SET
N | | | N
LA LA |
NOM. 1/2" APA RATED WOOD STRUCTURAL PANELS 2" ofc EDGES 16d SINKERS @ 12" ofc 2x PL. W/ 5/8" DIA. ANCHOR BOLTS | 0.223 x 3 x 3 PLATE WASHERS, wo |l AR ,L 30 i |
D] (24/16); BLOCK ALL EDGES 12" olc FIELD @ 16" olc TYPICAL, UN.O. 23|l 104" L 104" 1 333 DATE: 04.04.24
N@ B A 7 L= RN
A <<= g |} ‘ N % ; =g %
i TESE | | | 2355 X 01.16.25
HOLDOWN SCHEDULE = = | o H-EE -
(@) I\ R \I O
w | | ° }| -
o
MARK | TYPE POST ATTACHMENT ANCHOR BOLT REMARKS o : \ }I «
= | | =
DOUBLE STUD | (52)0.148 X 3 1/2" NAILS | ‘ i
@ MSTC40 (MINIMUM) | | |
|
——— ——— — — — — — — — — — 7:::::7:::::::2m Q
SINGLE STUD " 212" @ 3 3:3 —£3- — G
@ SWPSONHDU2 | oLt (6) SIMPSON 1/4" x 2-1/2" SDS SIMPSON PABS5 N | v e P ‘
BEAM ABOVE BEAM ABOVE
DOUBLE STUD " g 212" (OR PT GLULAM 3 1/2" X 7 1/2" (OR PT GLULAM 3 1/2" X 7 1/2"
<2> SIMPSON HDU4 OUBLE STU (10) SIMPSON 1/4" x 2-1/2" SDS SIMPSON PAB5 F EXPOSED) F EXPOSED)
(MINIMUM) ®
21'-0"
TRIPLESTUD | (30) SIMPSON 1/4" x 2-1/2" SDS SIMPSON PAB8
<3> SIMPSON HDU11 | viNivum) P

SUBMITTED 1/17/25


AutoCAD SHX Text
PORTLAND, OREGON

AutoCAD SHX Text
N

AutoCAD SHX Text
O

AutoCAD SHX Text
G

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
O

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
I

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
S

AutoCAD SHX Text
I

AutoCAD SHX Text
G

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
A. BEATE IOANIDE-CULI

AutoCAD SHX Text
13410

beate
Text Box
SUBMITTED 1/17/25


SUBMITTED 1/17/25

_ _ 0
TCT\ e = /
&xzu A o 61¢/6 4O ANV1LdOd Z < 0
S 3 S & S A g 3y
() L — A . 6
Momﬂww o 0 m><_l_._..vm\</mmo_.w w a- TM —
T3 vas = 4 ] ] 3 T - o
2743 S : 2. 2«2 23 ©
202 5 =S Zx<S £ O
Pow] oz
A m =3%08% 25 ¢
% = AW 5 oz <
] \QWP.@ o m.v TH- WV I TE T a O
o
© (D) —
C O 9
© — m W
- O
fd . —
o 4 — D_n
0O 2
al £ g ]
oW
= L8 o
> W DI N
Sy O« o ﬁ ﬁ ]
QO N = 0-82 4 O i 9-51 ’ .9-01 ]
OwE
—
A&
NV1d ¥0O1 33s NV1d ¥0O14 33s
& -MO139 Wv3d f, - MO39 Wv3g 1/
94 N T T T=F=F= F——F= f f - F — , 1 T I FF—FFd—F—"F—-"F1xXJ—FF—"F—TF34—————+ === S — é
T @ |
Q>
Q 29 o . |
[ A ///
— B MM_ oo_.vmg/uv
+ =2 m
|| .|N % L ] ] _
) ] e e N J1 ® X0 - [O . Z
- [Tt = NOIID3s Il o=
8 m T os s | e 335 - Nowwazyg || 290
z|3 ) O..f@Smm_:__f T |7 J I//E =2
— | J [
&[2 % N y Lm T 2 2L @ SOEE I T T ——]—1\ | S
o LN o OR w
S 3= | ER o ol w "
[z YA A A ¥l 9 2e — 111t 1T 1T T 111 1T H\ el
N —[© | m (O iy e ) ] 3901 TLXY =
N— 1 I N x|lO Z K- . ™~
Ol|w &ﬂ ol < Olx= //\ ﬁ
ﬁ al> o ; alow g
<|© <z 2 <2 Q |
SE 590 3[R E 5 m
o 1 le o o N |
© 8 0 0 N—— | |
-+ -4 —H—1+—-4+—+-+¥—F — 4+ -4+ 1\ H-—+-——F—1 = L] |
] 5 OO0wzoexz| P
3 ~
1 / —
o I O % Il - = |
- +— }— —+t ~0
@‘ N [ W[, &J | [ [ [ //\ m m
«a |
o all. o r~ :
“ILL L 1N
I . I IS I . o) _
@L4 N —L ST = Si=—l—=x=_x + = —]— g4 — 4 — |.|T||lﬂ|-|_.I|:|_|J4 t -4+t —_———-—_—_—_—_—— —_—
Wz |
O
52 DMN o2 NV1d 40014 m_m_m\‘ NV1d ¥0O14 33§ \
hi OwmFotx <Z = -MO139 Wv3ig - MO139 Wv3g
< 3020328 Py < | |
WAmm&mH [ | 1
0 mob
| | | i | Zz — @ —
| 7 || WB,B.B&
| HSN1d Wv3d 2L Z/L €19 | ug3°ezT@
| | | ZH3Z2085
7 | || , R&Dmhm%
§ * g 8L5200
0~ .0-01 200
- - 3 £S0x00
| o L )
|| X 0L i 9-S1 :9-0L
7 , 7
| ﬁ j .0-0
7
|| ||
B ||
B |
| |
; |
| |
| W || 5
- ; 2 2
| |
| . : |
g o 2 o f
o o afw O i
| - | - [
| N Sl N |
| ® =18 ® ||
|| N <= X ]
|| & =z S ||
| 7 SW_ ||
7 | V) :
R ||
| L
[ 1
7 7 \ \ :
B ||
| ﬁ ;
B 7 ||
] R il
I - T — T - - \W — - N _
oF : - - e
| | :
o
7 W L 1 =
T T N~
| ] !
|| 3 _
o 7 a .
3 || 15 &
7 7 —EON =
T MEP _1
| N | & Z
_ o _ <
| - “ :
||
|| l
N N _ nNu
o e e :
“““““““““““““ I
s B
| i | o
| | _ O
| | “ O
|| | | _MWN L
| | ol O
i (= | HE 2
B i 1~
B N _ O
|| | | _ LLl
L &) @) | 1 S
T A g I I S~
| o o | _ Z
x N 3 N i _ <
| | ® | © | 7 [ —~
N ~] o N = DI
| = ot < N S %
N 210 N o
i oll= | ! : O
| QI | _ Z
| 7 i | 7 |
| 7 SW 7 | [l AMH
- 0 B 1=
| | 153 %
& | FEF H
I o s o
7 < w
i | | ] 2 e
B " | _ [~
! | _ v |
| | | } T
i | _ = |4
3 | _ mLu 5
| i “ 3
7’ “““““““““““““““ —_— 1 — — “‘L 7 % .|4
ON e :
7 | -
_ o3
_ °5
V | O
!
.0-9
, P

| I

)3
ONVHIIA 0-€2 .0-S NVHIIAO
0-€ 0-€


AutoCAD SHX Text
PORTLAND, OREGON

AutoCAD SHX Text
N

AutoCAD SHX Text
O

AutoCAD SHX Text
G

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
O

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
I

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
S

AutoCAD SHX Text
I

AutoCAD SHX Text
G

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
A. BEATE IOANIDE-CULI

AutoCAD SHX Text
13410

beate
Text Box
SUBMITTED 1/17/25


City of Portland
Reviewe

d for

@

920" .
g | 20 Code Compliance
4g 39" 6-0" 13" Date: 2/12/2025
O | | Permit #: 24-030289-REV-01-R!
Z
oI SANNS
- & |
> \
CADCLv -— - - - - - -~ - - - -~ - - - - - - - - - - - - - -~ - - - - 4-_ - - - - - - - - - - - - _ - |- -_-_ - - - - - - - - - - - -_-___________________—_—__ /s i NI
T "BencH/| N2 |
|| T o« SHELVES © )
| \ 2 A8 | | ~
| =2z : i |
| o= 2 o | :
i ) 44 . 3 & 60" 113 %
= [oe]
|| 1 o 1
| : 8| | : ;.OSET |
o =
| } 22 : DN | | N _CLOser B BEDROOM il ]
| = 2 5307
| e o) A| N eXE® — \w ED A@C‘y
B il X% &q «9
| ) = I R 13410
o N
| = L II < T A BEATE IOANIDE-CULI tﬂ
o | N a N
1 ‘ P I / Qﬂ
|| o : S \ - PORTLAND OREGON %
N — ! _
B RIDGE BEAM o= I X o B 4 Q}
B 1 Y O ) SO = == =t I 8 % 0 0?&
| | - F
| \ I x LA A
I I a T 5 N
AN I 0 X o
\ | %9 T g | X % E = <D( LN
- % ZQ%| [Je¥eE e 7
. | 2% | 2 5172
|| | | ROOF BELOW S <
\ _ v N | I
}\ ﬁ [T - I .
| = RN 1 || OPENTO -
al « I » || BELOW
- T | } | | a ARCHITECTURE STUDIO LLC
| N < X%
\ ! EETF I ETiE e
< m N 0 =< = @ N
5 5 }\ §§§| 3-0WX I §§§2 N 3L
o © 0 HEIGHT ]S
| } O o 8l Uires BEDROOM =CgI
L FIXED 3 ¥ LIJ
N =\ — ﬁr **************************** X—NN—"N—"—"—— =T — N N~ *4@
O =
) <z( ] X - X /N (2) 2X6 HDR = z | Sl
oz - 11E= 2 - | o TYP. UNLESS o
“ g I XLz = | = OTHERWISE <
S S %
&\V7777777777777 ?i 2777777736 ‘ :l\lo Z,l) 0
TERZY | LlJ i
l12x2 % | > N
; i
- - A <&
N T [«
- L 260" , 11-10" | 28-10" 44 T | S <€ o~
- 7 7 N [ —
’\ -
OVERHANG, 1 7o | 05 3 |||, ﬁ 46 24% T XX
e ) &
1T By = O
N - : | 85023 LLl & S
< e \? © | %&@EéA\**<@ D
Y re | lal | s ¥ =
/7 SECOND FLOOR PLAN 2R@ & N crosers 3 g
N D N
\25/ SCALE: 1/4'=1'0" 2R o -
Oy - == G =
LEGEND: ‘ 2%
—_
7 NEW WALL ASSEMBLY: E NEW EXHAUST FAN ABOVE - SEE i | D_ 00 O
= EXTERIOR WALLS: 2Xé @ 16" O.C. ; SIDING OVER WEATHER ORSC M1507.3 AND M1507.4 FOR Q 5.3" | o
B] RESISTIVE BARRIER OVER WALL SHEATHING PER PLAN ON EXTERIOR FAN AND DUCT SIZING Q 390 o |
FACE & 1/2" GYP. BD. AT INTERIOR FACE - , 6- , ‘
_ . , SMOKE DETECTOR - * INDICATES |
INTERIOR WALLS: 2X4 @ 16" O.C. WITH 1/2" GYP. BD. EACH SIDE COMBO CO2/SMOKE DETECTOR @ @ . <
PER R315.3.3 & R315.4.3 | 2 5
WALL SHEATHING: | a g
SEE SHEARWALL SCHEDULE ._® HOLDOWN - SEE HOLDOWN SCHEDULE 21 26 HDR O . M
o (2) PLAYROOM 2 %
in 2-10WX5-OH 9 in
- FIXED/AWNING | . -
SHEAR WALL SCHEDULE 8d COMMON NAILS TYPICAL ( DIA.=0.131", L=2 1/2"), TYPICAL UNLESS NOTED OTHERWISE HEAD @ 66 ‘ L
(%0}
MARK | SHEATHING SHEATHING NAILING | SILL PLATE NAILING FOUNDATION ANCHORS REMARKS 106" | 106"
yd
7
Al NOM. 1/2" APA RATED WOOD STRUCTURAL PANELS | 6" o/c EDGES 16d SINKERS @ 12" ofc 2x PL. W/ 5/8" DIA. ANCHOR BOLTS |  0.223 x 3 x 3 PLATE WASHERS, | SECOND
(24/16); BLOCK ALL EDGES 12" ofc FIELD @ 48" olc TYPICAL, U.N.O. 2-10WX5-0H | 2-10WX5-0H
FIXED/AWNING | FIXED/AWNING FLOOR PLAN
NOM. 1/2" APA RATED WOOD STRUCTURAL PANELS 4" o/c EDGES 16d SINKERS @ 12" ofc 2x PL. W/ 5/8" DIA. ANCHOR BOLTS |  0.223 x 3 x 3 PLATE WASHERS, (HzE)Azt))( ()@H%'g' | ?2E)A2[))(?H61‘)_s”
(24/16); BLOCK ALL EDGES 12" ofc FIELD @ 32" olc TYPICAL, U.N.O. | | |
GIRSEN = - R
NOM. 1/2" APA RATED WOOD STRUCTURAL PANELS | 3" o/c EDGES 16d SINKERS @ 12" ofc 2x PL. W/ 5/8" DIA. ANCHOR BOLTS |  0.223 x 3 x 3 PLATE WASHERS, | \ \ |
(24/16); BLOCK ALL EDGES 12" ofc FIELD @ 24" olc TYPICAL, U.N.O. i A
p] | NOM. 112/ APARATED WOOD STRUCTURAL PANELS | 2" oo EDGES 16d SINKERS @ 12" ofc 2x PL. W/ 5/8" DIA. ANCHOR BOLTS |  0.223 x 3 x 3 PLATE WASHERS, |
(24/16); BLOCK ALL EDGES 12" ofc FIELD @ 16" olc TYPICAL, U.N.O. 6-0 , 46" L PERMIT SET
# 7
Z T
o SHEATHE CONTINUOUS e DATE: 04.04.24
HOLDOWN SCHEDULE = g CENDTLUE =
2 /A 01.16.25
MARK | TYPE POST ATTACHMENT ANCHOR BOLT REMARKS ROOF BELOW
DOUBLE STUD | (52)0.148 X 3 1/2" NAILS
<o> MSTC40 (52) 0. 412 412
MINIMUM 412 _A412
( ) SLOPE SLOPE
SINGLE STUD | (6) SIMPSON 1/4" x 2-1/2" SDS SIMPSON PAB5 @v X @
@ SIMPSON HDU2 (VINIMUM) (6)
DOUBLE STUD | (10) SIMPSON 1/4" x 2-1/2" SDS SIMPSON PAB5
@ SIMPSON HDU4 (VINIMUM) (10)
<?> SIMPSON HDU11 (TGEIIRAEU?AT)UD (30) SIMPSON 1/4" x 2-1/2" SDS SIMPSON PAB8 L 210 , o

SUBMITTED 1/17/25



AutoCAD SHX Text
PORTLAND, OREGON

AutoCAD SHX Text
N

AutoCAD SHX Text
O

AutoCAD SHX Text
G

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
O

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
I

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
S

AutoCAD SHX Text
I

AutoCAD SHX Text
G

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
A. BEATE IOANIDE-CULI

AutoCAD SHX Text
13410

beate
Text Box
SUBMITTED 1/17/25


	Kappa-sheet 2.2-REV3-250116
	2.2

	Kappa-sheet 2.3-REV3-250116
	2.3

	Kappa-sheet 2.4-REV3-250116
	2.4

	Kappa-sheet 2.5-REV3-250116
	2.5


